Chemistry Chapter 11
Wkst 11 B
Mass- Mass Relationships (Stoichiometry)

In each of the problems complete and balance the equation and then solve the problem.  Each letter, a, b, c are new values for the problem stated.
1. Ammonia, NH3, which is used in the production of fertilizers and explosives, is made by the following reaction: N2 + H2 (
a. How many moles of ammonia can be prepared from 6.00 moles nitrogen?

b. How many moles of hydrogen are required to produce 183.5 moles of ammonia?
c. How many grams of ammonia can be prepared from the reaction between 300. g of hydrogen and an excess supply of nitrogen from the air?

2. BaCl2 +  K3PO4 (
a. How many moles of potassium chloride would be formed from the reaction between potassium phosphate and 17.0 moles of barium chloride?

b. How many moles of potassium phosphate are necessary to produce 1.67 moles of barium phosphate?

c. How many grams of potassium chloride will be produced from the reaction between potassium phosphate and 47.9 grams of barium chloride?

3. Al  + HCl (
a. How many moles of hydrogen can be produced from aluminum and 16.5 moles of hydrochloric acid?

b. How many moles of hydrochloric acid are needed to produce 94.5 moles of aluminum chloride?
c. How many grams of aluminum chloride can be prepared from the reaction of hydrochloric acid and 38.9 grams of aluminum?

4. Fe2(SO4)3  + H20 (
a. How many moles of Iron III hydroxide would be formed along with the formation of 33.4 moles of sulfuric acid?
b. How many moles of water are required to react with 23.4 moles of Iron III sulfate?

c. How many grams of Iron III sulfate are needed to prepare sulfuric acid and 224.9 grams of Iron III  hydroxide?

5. KClO3 (
a. How many moles of KCl will be produced at the same time that 26.8 moles of oxygen is produced?

b. How many moles of potassium chlorate are needed to produce 17.6 moles of oxygen?

c. How many grams of potassium chlorate are needed to produce 38.9 g of oxygen?

